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Lecture - 23
Merging Blocks of Information after Extraction

Welcome friends, once again to this NPTEL MOOC module on Exploring Health Data
Health Care Survey Data. We are on the week where we have been trying to explain the
survey data analysis. We have been trained in handling these survey data. In the last year also,

I handled this kind of explanation, this kind of survey data with the help of Stata.

Today also we are going to explain how survey data could be merged. On the very last lecture
we have done the extraction of the survey data from the ASCII format. And we have guided
you about 50-55 minutes for how you could have gone through from the scratch to the final

shape of the data.

But still that was not complete, and this has been helped by many. This particular session we
have been working for over 4-5 years and developed a systematic presentation for you. This
has been supported by Mr. Milind, Mr. Kamal and Shruti. Shruti has already helped in the

earlier last module.

So, you can have these contacts especially Kamal and Milind and you can be in touch with
them through our NPTEL portal. They will be give you better guidance as well. So, here we
are targeting to have merging of blocks of information after extraction. Now, why merging of
blocks are required? I told you earlier that merging of blocks are essential because different

blocks or levels give a different set up information.

So, you cannot be able to interpret or fine-tuned or a correct result just based on one block or
one level of information. So, you have to have merge the essential files or essential labels. So,
while you are going to merge the blocks some of the important steps, we are going to guide
you through this session so that it becomes very easier for you to run those commands

correctly and to process your data.

So, this is a clear-cut handholding session we are not keeping any theories here these are all
practical and we will also operate through the software and where we could able to find out

the right database before we start for our analysis.



So, here it goes. Starting in the introduction I just wanted to explain you that combining the
dataset or the blocks is in fact called common data management task. And in many empirical

projects the raw data to be utilized are in fact stored in separate files.

For example, separate files for household and individual records, separate files for each
stages, separate webs of panel data, separate files for each category of information. Those are

in fact called blocks of information as provided in the schedule of the survey.
(Refer Slide Time: 04:11)

Introduction

O In many empirical research projects, the raw data to be utilised are stored
in separate files. For example, separate files for household and individual
records, separate files for each states, separate waves of panel data,
separate files for each category of information (blocks in the
questionnaires) etc.

O Combining two datasets is a common data management tasks. Merging
and appending are such tools that combines two datasets.

So, combining is essential, merging and appending are such tools that combines two data

sets.
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Note!

Before combining data sets be sure you
understand the structure of both data sets
and the logic of the way you're combining

\ them. /
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From the beginning we are keeping a very strong note which will be very helpful for you to

take enough care before combining. So, before combining data sets be sure you understand

the structure of about data sets and the logic of the way you are trying to combine all of them.
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Why to Combine Datasets?

O Many a times large scale health datasets in India are provided in several
segments.

O In order to work with information contained in two or more files, it is
necessary to combine the segments in a new single file which contains all
the variables you need for analysis.

O For example, NSS dataset is provided in different blocks. One block gives
information about level one unit (individuals) and the other file gives
information about level two unit (household). And if we are interested in
analysing individual characteristics along with its household characteristics
then we have to combine these datasets.

So, why to combine data set I have already mentioned. We all know that these days in the

large-scale data sets is coming up with several structural components. And each of the

component gives separate information. And they contain two or more files as well, it is



necessary to provide segments in a new single file which contains all variables you need to

analyze.

For example, in the NSS data set as provided in different rounds it has different blocks. One
block gives one setup information maybe for individual information another one is on
household information, if we are interested in understanding the household characteristics as

well as the individual characteristics.

So, that my analysis is going to be somewhere addressing the requirement. So, I have to
combine these data sets. There are few clarifications we must do first then we go for steps.
Firstly, we need to know which are called the observation and which are called the variables.
Observations are the rows in the data sets like in a Excel data set if you remember or in the

Stata spreadsheet.
(Refer Slide Time: 06:11)
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Clarify Few Things First

O Observations are the rows in the dataset. Observations are related to the
unit of analysis in the dataset. For instance, household, or individual, or
enterprise unit.

Q variables are the columns in the dataset. Each variable contains a unique

piece of information about each observation. Examples are income and
expenditure of the household, age and sex of the individual etc.

Stata browse window you will get the data set, in which there are a columns of information
and a rows of information. The rows in fact, are countered as number of observations or the
respondents in any survey. So, these observations are related to the unit of analysis in the data

sets, for instance we have household or individual or enterprise units.

Variables are kept in the columns of that data set each variable contains a unique place of
information about each observation. Example such as like income, expenditure of the

household, sex and age of the individual etc.
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So, here we have kept for your clarity further on the data set window. We have marked as

which are called observations on the row and on the column they are the variables.
(Refer Slide Time: 07:09)

e
Two Ways of Combining Datasets

U Merge : adds the different variables to a dataset by joining two datasets
together (more or less the same observations).

O Append : adds the different observations to a dataset by joining two
datasets together (more or less same the same variables).

Q In merge, we join two datasets :
» Master file : the data file with which we will merge the other file.
» Using file : the data file we will be merging with the master file.

O Stata always works with one dataset in the memory. So combining
datasets here means combining the dataset in the memory (master file)
with ancther dataset on disk (using file).

There are two ways of combining data sets. We are coming into the depth of the analysis now.

We are now going into the deeper aspects of those combining data sets. So, there are broadly

two ways of combining; one is called merging another one is called appending.



So, when we try to take the steps of merging or we try to do it with merging, we are actually
adding the different variables into the number of observations. So, more information’s we are

actually adding more variables to a data set by joining two data sets together.

So, more or less the same observation, not necessarily the same observations are again carried
forward rather maybe little more or even little less, but for sure we are adding more variables.
Whereas in case of append we are actually adding observations, to the data set; variable

maybe same or maybe little different.

Usually, we carry with the same variables and adding the observations. In merging we join
two data set one is called master file and another is called using file, I am going to use it and

then discuss with you very shortly about this in detail.

Master files are the files which we first open and that carries our beginning file. The data file
with which we will merge the other file, which we are going to add to that file is called

master file. So, using file which are to be added, that the file will be merging with the master

file.

These you have to remember, Stata always works with one data set in the memory, but I think
earlier in the or earlier versions of Stata, it gives two files together two window can be

opened, but nowadays it is only with one memory.

So, combining data sets here means you are actually combining the data set in the memory.
So, memory means you have already kept in the memory as the master file and you are in fact

adding the using file to the memory. That is how Stata works for merging.

Regarding append data, it is all about combining data set vertically like observations are
actually added, then that is why we say they are vertically added. The command we usually
go for this is called append.
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Combining Datasets : ‘APPEND’

O Append combines datasets vertically (see next slide).
» Command : Append 1:1 using “file_directory of the using file”

U Append is used when you want to combine datasets that contain the same
variables, but have different cases, thus, you are adding new rows to the |
dataset, but the number of columns should remain the same. v~

O Using append makes sense if the master data set and the using data set
contain the same variables, but not the same subjects.

Q Inone line, it gives more subject/observation of the same variable.

Append 1:1 using file directory basically what is this file director of the using file. Wherever
you have the using file you give the file directory with invited comma, this is path name
should be kept here whichever you wanted to a add. So, 1:1 basically all the variables are

going to be added (to be carried forward) with the observations.

So, append is used when you want to combine data sets that contain the same variables. That
is what I am saying when you have 1:1; that means, you have the same number of variables
you basically wanted to add the number of observation to the corresponding same set of

variables.

If you have different cases and you wanted to add then append command is the right
approach. Thus, you are adding new rows to the data set, but the number of columns should
remain the same. So, this is very clearly noted. Using append makes sense if the master data

set and the using data set contain the same variable, but not the same subject.

So, subjects basically the observation should be different, but the variables should be same,
so that append is actually considered. In one line it gives more subject or observations to the

same variable. So, basically you are going to get the same variable, but more observations are
added.
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Illustration of APPEND
O The append command simply adds the using data set to the end of the
master data set. N
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We will also show it here with the help of diagram. Append is explained with this figure like
first box is for master file, second one is a using file. Once you have opened this we wanted

to in fact add the B i.e., we wanted to add the information of B.

What is important to note the variable are same till V variable k, these are same. Now, your
number of observation is still here, it is still na, now it is from another set of observations, but
their responses with the variables name are same. So, in case of append we are actually

adding all those extra variables.

We are just keeping like till na these are all entries observations we are entering the
observation on this rows till this. So, these are called vertical addition, appending here refers

to vertical addition of observations.



(Refer Slide Time: 12:53)

O Some preconditions of append:

» The datasets should have most or all of the same variables.
Make sure variables have the same name in both files before
appending them, or append will treat them as different, v,
variables. K ©

» Variables not common to all datasets can be appended. If aEL
variable only exists in one of the two data sets, observations?
from the other data set will have missing values for that).’
variable.

\jyériables with the same name should have the same storage
type (string, float, etc.).

So, some preconditions to append like the dataset should have most or all of the variables,

make sure variables have the same name in both the files before appending them. The append
will treat them as different variables or if you have different variable, then it will be treating

them different of variables.

Variables not common to all data set can be appended, if a variable only exists in one of the
two data sets observations from the other data set will have missing values for that particular
variable. So that means, if two data set A and data set B, if the variable 1 and variable 2 if

you are just going to add it. But like these does not have variables for v 2, but this one it has.

So, if you are appending it these will be coming out to be the missing values, so missing dots
will be visible after appending. Variables with the same name should have the same storage
type, so that is another most important aspect, should take a note of it that the variables
should have the same storage as well as otherwise it will create some problem. So, string
value or float value etc. if variables on string then the using file must have also string

variable.
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Combining Datasets : ‘MERGE’

O Merge combines datasets “horizontally”, adding variables’ values to
existing observations.

O Where the append command adds rows, or observations, merge addiz//
columns, or variables.

O The merge command combines data sets by combining observations that

have the same value of an identifier variable or variables, so the result has
all the variables from both files.

Combining data set that is merging is most important in NSS data particularly and other data
as well. All unit level data merging is very essential. Merge combines data sets horizontally

and adding variable values to their existing observation.

Where the append command adds rows or observations and merge adds columns or variables,
that is in fact another important distinction. The merge command combines data sets by
combining observation that have the same value of an identifier variable or variable, so that

the result has all the variables from both the files.

So, identifier variables are important. How identifier variables are actually considered we are

going to explain very shortly.
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O Datasets to be merged should generally be matched on some id variable,
so that the correct variable values are grouped together.

O i1d variable(s) are those variables that uniquely identify each
. . n —
observation/case. It is also called primary keys or indexes. There can be
more than one identification variables.

O The merge command adds variables from using dataset to master dataset.

So, data sets to be merged should generally be matched on some id variable, this is what we
are trying to say about the unique id variable or the primary keys. So, that the correct variable
values are grouped together. Id variables are those variables that that uniquely identify, each
observation and it is also called primary keys or indexes; there can be more than one

identification variables.

What does this mean primary key explains that the once a key is assigned in each of the
blocks, if you have to just merge that particular key you are actually pulling other information

corresponding to that particular primary key.

So, the primary key is actually going to combine you both the data sets with right

information. The merge command adds variables using data sets to master data sets like this.
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ILLUSTRATION OF MERGE
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variable's value
matched in both the
datasets.

So, master data set is A here using data set is B. Here number of observation may be same,
but the variables are actually different this is variable till vk this is vk plus 1, 2 until p. So, all
will be added, so this is variable entries, here we are actually adding new variables

corresponding to each of the observations.

Number of observation may remain same or depends on the id valuable values. So, if the id
variable values are perfectly corresponding or perfectly identify in both the case by 1:1, then

number of observation is expected to be the same.
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Key to Merging

O Like the append command, the merge works on a “master” dataset—the
current contents of memory—and a single “using” dataset.

Q The data sets to be merged must all contain at least one “linking” variable
that has the same name in each data set. And, it must uniquely identify
each subject id.

O There can be more than one unique id variable.
Q The other variables should be different in the two data sets.

O You must sort each dataset by the id variable prior to their merge.
—




So, key to merging there are certain important aspects like the append command the merge
works on a master data set, the current contents of the memory and a single using data set.
Like master and a single using data set to be merged. The data sets to be merged must all
contain at least one linking variable, this is another important aspect which is essential.
Another is that the same name in both the data set, then only both the data sets are expected

to be merged.

And it should actually uniquely identify each of the subject id. There can be more than one
unique id variable, the other variable should be different in two data sets. You must sort each
data set by id variable prior to their merge. So, another step we are going to guide you right

now you must also sort this database. Then only it is going to merge the different variables.

So, if the corresponding unique id’s are not in a systematic order, the data cannot able to
actually recognize in another using file. So, if it is sort; that means, it the second file is also
sorted very correctly. That means, while you merge you can be able to get the right

corresponding information.
(Refer Slide Time: 18:43)

Process of Merge

Q The syntax for merge is simple. Start by opening the master dataset.
merge (1:(/ 1:\r£m:l/ m:m) id variable using “merging dataset”
Q Intheory, there are 4 kinds of merges:
» One toone (1:1),
» One to many (1:m),
» Many to one (m:1), and
» Many to many (m:m)

Regarding the steps for merging, there are four important steps we usually follow they are
called 1:1, 1:m, m:1 and m:m. So, these are like 1:1 stands for 1 to 1, merging 1 is to m for 1

to many, then many to 1 then many-to-many; so these are four guidance.



Now, we need to start by opening the master data set first, I will show you all those practical
aspects on our Stata software. So, we will start by opening the master data set, master data set
will open any data set we first open. Then if you are thinking of adding another file to the
master data set, that data set is in fact called using data set whichever you are going to use it.

But the first one which we have opened is in fact called the master one.

So, the command we use is called merge if it is 1:1. I will clarify all those detail in between
1:1 or 1 is to any one options to be picked up. Let it be if it is corresponding perfectly with
1:1, 1 are perfectly matching by their unique id; that means, they are actually 1:1. If all are not
matching in the using file only first one is each of them uniquely identified, but others are not
then in that case if they have multiple information then it will be 1:m, m stands for multiple

information.

The reverse you can also do it multiple information to 1. Usually, we follow the first two

methods others are not suggested much.
(Refer Slide Time: 20:35)

U One to one merge (1: 1)
» Command : merge 1:1id_variables using “file_directory of the using file”

» A 1-to-1 merge combines datasets that have identifiers for single
observations in each dataset.

» |fthe id variables uniquely identify observations in both datasets, this is a 1-
to-1 merge.

» A “one-to-one” merge specifies that each record in the using data set is to
be combined with one record in the master data set.

» The one-to-one merge just mechanically put two datasets together. The
first observation of the master dataset is joined to the first one of the using
dataset. The second is joined to the second of the using dataset.

So, like what do you mean by 1 is to 1 merging: this is basically the command where both the

files i.e., master file as well as the using file have perfect identifiers for each single
observation in the data set. Each single data set have the same identifier and each one is the
individual kind. Like perfectly one each identify with another perfectly with their

observations, then that case we apply 1 is to 1 merging.



If the id variables uniquely identify observation in both the data set that is basically called 1
is to 1 merge. A 1-to-1 merge specifies that each record in the using data set is to be
combined with one record in the master data set. The 1-to-1 merge just mechanically put two
data sets together, the first observation of the master data set is joined to the first one of the

using data set, the second is joined to the second one from the using data set.

So, that is why what it follows, the rest you will be guided through our practical session here
after couple of minutes. Second one is called one is to many I am going to use all those
techniques one is to many or on the reverse called many is to one merge. So, 1 is to many we

need to cite give the id variables first then using file.
(Refer Slide Time: 22:09)

U One-to-many (1:rfn) or Many-to-one (m:1) merge

» Commandynergei:m id_variables using “file_directory of the using file
» mergem:1id variables using “file_directory of the using file”

» For merging two files having different level of measurement, i.e. one at

individual level and other at household level these two forms of merges
are used.

» The one-to-many and many-to-one are simply reverse of each other.

» If the id variables uniquely identify observations in only the master
dataset, this is the case of 1-to-many merge.

Then we will go by the using file directory, basically we need to specify the exact, directory

the path name of the particular file. Similarly, if we go by the reverse m is to 1, then ideal

variables of the using file should be actually specified.

If it is like 1 is to m then the first file has to be uniquely identified, that is the master file the
master files must be uniquely identified. If it is the second file that is the using file using file
must be uniquely identified for sure then it works very correctly. For merging two files
having different levels of measurement like one at individual level and other at the household

level.



If that is the case in these two files what is going to happen the 1 is to many or and many is to
1 are simply reverse of each other. If the id variables uniquely identify observations in only
the master of data set that is where you are supposed to apply the 1 is to many merge in
command. If the master file is only uniquely identified then 1 is to since your master file is

actually 1 and others may not be uniquely identified.

(Refer Slide Time: 23:47)

» |f the id variables uniquely identify observations in only the using dataset,
this is a many-to-1 merge

» In a one-to-many or many-to-one merge, one observation from one data
set is combined with many observations from the other.

» The difference between one-to-many and many-to-one being whether the
master data set has the "many" or the using data set.

A7

These merges make sense when we have hierarchical data. For example, if
you have a dataset on households and another dataset at individual level
residing in that households.

If the id variables uniquely identify observations in only the using data set then many is to 1
command is perfectly suitable. So, these type of questions might be asked in the exam that
which one you apply the most, we will give all the options MCQs options. So, in 1 to many
or many to 1 merge, one observation from one data set is combined with many observation

from the other.

1 to many means 1 is combined with many information; that means, the file you are expected
to be much larger than the first one and many observations are going to be added. The
difference between 1 to many and many to 1 being whether the master data set has the many
or the using data set, where we have that many information that is important and accordingly

we can take the steps.

These merges make sense when we have hierarchical data for example if you have a data set

on households and another data set at individual level residing in that household.
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U Many-to-many (m:m) merge;.
Command : merge m:mid_variables using “file_directory of the using file”

In principle there are many-to-many merge but in practice it is rarely used.
It gives some random results.
This is best avoided.

Stata manual doesn’t even cover this.

Y WV WV WV VW W

The observations are matched within equal values of the specified
variables with the corresponding observations matching with one another.

» |fthere are not an equal number of observations then the last observation
of the shorter dataset continues matching the rest of the observations of
the longer dataset.

So, many-to-many merge command here, if many-to-many as I already guided just before

you need not require the id variable to be uniquely identified. Since both the files are
many-to-many, so since it is not having any one or each observations are not uniquely

1dentified.

So, many-to-many with the id variables should be given, but id variables may not be uniquely
identified. So, using the data file, so accordingly we can do that, I will apply just now through
the data set. The sample data set we will also upload in your NPTEL portal.

In principle there are many-to-many merge, but in practice this is rarely used it gives some
random results and this is suggested to avoid. Stata manual does not even cover this particular
aspect the observations are matched with equal values of the specified variables with the

corresponding observation matching with one another.

If there are not an equal number of observation then the last observation of the shorter data
set continues, matching the rest of the observation of the longer data set. So, anyway that gets

merged.
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Note!

You cannot carry out another merge until
you drop or rename the _merge variable, so
Stata can create a new one.
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So, one note, we wanted to just pass it to you that you cannot carry out another merge until

you drop or rename the merge variable, so Stata can create a new one. So, you have to
actually rename once you have merge it you will come up with this kind of information in the

variable window.

Underscore merge will come out and that has to be either renamed or this has to be drop in
order to merge further. I will show those all those things you need to save also once you have
merged. You need to save it is important to remember that the changes only take place in the

working memory.
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U SAVING-

It is important to remember that these changes only take
place in the working memory, thus in order to make sure you do
not lose your newly appended and merged dataset, you must
save the dataset, preferably with a new name.

Thus, in order to make sure you do not lose your newly appended and merged data set you

must have to save the data set preferably with an appropriate new name.
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PRACTICAL

O NSS 75t Health round data
_—"—-

So, now we are going to show you the practical handouts or exercise using the NSS 75th

round data.
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So, here we are going to open Stata here. See in the data set we are just going to open first

some important information which are required for merging.

(Refer Slide Time: 27:49)
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I will show you all those things together, 75th round we require layout file first.
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So, we open schedule.
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The schedule that is important, then layout file, read me file also we have opened.
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Government of India =
Data Quality Assurance Division
National Statistics Office
164, Gopal Lal Thakur Road, Kolkata-108.

N o
NSS 75" Round ) Con
Final Multiplier-posted unit-level data 2 e
for Schedule- 25.0 of NSS 75" round O b
B
A) Data for Sch. 25.0 (Social Consumption: Health). L
There are 13 data files belonging to 13 different levels as per layout
(datalay75_250.XLS). 4
{ File names No. of Records
| R75250L01.TX] 113823
| R75250L02.TX1 113823

Here is the read me file then we will open layout file also and a micro data set.
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Text Dats Layout
i 5875 RosadJub 417 Juu 2018)
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Now this is being opened. So, now, in the last lecture, I told you about extraction I have
already explained extraction. So, now, we should have the extracted data files from the ASCII

format. So now, I will explain all those things simultaneously.
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Let us open one extracted data, maybe level number 2.
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So, we are going to open the extracted file, that we did it in our last lecture.
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So, on your window we have the level number 2 information. So, level number 2 as per the

schedule we just go here.
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® Y000 B? 2/a4D0Q ’ & : o
File names ‘ No. of Records
R75250L01.TX1 113823 B .
R752500L02.TX1 113823 2 s
R75250L03.TX1 555352 B e v
R75250L04.TXT 2537 s
R752500.05.1X1 93925
R752501.06.TX1 93925
R752501L07.TX1 93925 i
R75250L08.TXT 43240 3 con
R75250L09.TXT 43240 &
R75250L10.TXT 43240 o
R75250LILTXT 42762 ; )
R75250L12.TXT 70258
R75250L13.TXT 3257
Total 1342307

Record leng

Here is the level number 2 it has the information about 1,13,823. This is what you can check
it on the screen. Then second on level 2 you also have to check your schedule that which kind
of variables are available on level 2, they are household type, religion social groups, type of
latrine, access to latrine etc. These are called household information. These information are

made for the household level not the individual information.
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So, where these are located you can see in the schedule or the questionnaire file.
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Here is our questionnaire or schedule.
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’ I principal  |description 13 priniary sonrce of eneigy for cooking during the Ias ,
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code (3-digar) 11 was there a sudden owbreak of conmumeable disease
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Z
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household type (code) amount of medical msurance premm paid for Lrin
houseliold members durng last 365 days (Rs )

6. household's usual mouthly consumer expenditure
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7. soenl group (cod) (Rs)

CODES FOR BLOCK 3 m

item 5: - houschold type: for rural areas self-employed in agriculuure -1, seif-employed in non-agriculture - 2, regular

Yes, this is the one household characteristics. This is provided along with the NSS data which
I already have guided in the last lecture and also in the very first week of our module where
we have guided about NSS data. Here we said about household size household type, religion,
social groups, then access to latrine etc. Their principal occupation, then principal industrial

involvement etc., all those information are available.
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Now, on the next one is on the individual information like demographic particulars of
household members. So, name of the member like NSS collects information about some of
the members of the household with different serial number. What is relation to head, their
gender, age, marital status, general education, principal activities of that particular person etc.

is given. So, these are also figured in the layout file.
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You can just have a check on the layout file.
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This is level number 2 is written. Now it is household size then this is their NIC and National
Industrial Classification 2 as per the 2008 and National Classification Occupation 2004 about
their occupation. Household type, religion, social groups all such information with their byte

position byte positions are also given.

So, byte positions and common id is also defined by default, but we are going to define the
common id as per the instruction given in the layout file. So, common id at their byte position
they have already givens 1 to 34 that is a combined common id, but we will define our
common id the unique id which I have already told to you. And all the rest of the variables

and the byte positions are already defined.

Now let us move to understand their common idea as well. So, these are the different files

you have downloaded and you have checked their number of observations.
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I'SU Serial Number = 4(5) (1e, offset = 4th byte, length = 5 bytes)

Segment Number =31

<

Second Stage Stratum Number 32(1)
houschold Number 332)
Level Number =352
Tyrou
Person shno/hospital slno/ailment sho = 37(5)

10 List of Documents %
a) General Information =eeee READMETS 250.doc 0
b) Text Data Layout e datalay75 250.XLS B
¢) Blank schedule 0.0 - s¢h0.0.pdf &
d) Blank schedule 250 —s s¢h25.0.pdf
¢) Estimation procedure note for 75" round ----- Estimation_Procedure_NSS_75.pdf
) Instructions Manual for field staff, NSS 75" Round

Here, are the common id related information in point number 9, common primary id or key
for identification of a record is given. So, the common id as for the information for household
level information, so this is household number is given. Then person number and hospital

number or individual related number are given in here.

At the last line till this FSU segment number, second stage stratum, household number these
four are important in this particular block. So, we will include 4 to 5 position, 4 and 5 means
starting from 4 till 5th another 5th position. So; that means, 4, 5, 6, 7, 8 till 8 position you

have to collect the information from the layout file.

Like it is already given FSU 4 to 8 you can just have a check, 4 to 8 here 4 till 8 in fact is
your FSU serial number. This is what we need we have already done it in our extraction, I am
not going to guide you further; how these byte positions are set we have already guided in our

previous lecture.

Today after doing so, we know that these are the common id information. So, we have to
extract this, and I take combined id for extraction. So, we have already done it based on that
we have taken an FSU, SSS. This three and household, household number these four

information are very essential.

So, that could also be combined and to be develop a household id HHID we can develop it I

think in the PPT we have also guided you how you can combine this id.
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Unique Id

U Household: HHID = FSU Segment SSS Household(Blockl 2and3)
» Command : gen HHID =FSU +Segrrﬁ1t+SSS+Household

a Induvuduq/eharacterlstlcs : PID = FSU Segment SSS Household +

Person Serial NoA(block4yd5)\/ S - /

» Command : gen PID = FSU +Segment +5SS + Household + Person Serial No

\D/«llment Persons: Person Id = FSU Segment SSS Household SrI No of
Member (block 6 and 7) -

\/ |
» Comm}d gen Person Id = FSU + Segment + SSS + Household + Srl No of
Member

So, that could also be combined like this. So, household id how HHID define like FSU

segment, SSS household, they are for block number 1. 2 and 3. So, that is basically blocks
number or level number 2 we in fact we are trying to deal with the household characteristics.
So, this is FSU segment SSS and household this is what we have done it and defined the Id

accordingly.
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So, here on the window you have seen the HHID. So, now, I am just going to show all those

things together that is browse HHID i.e., br HHID.



Then other three FSU then segment then SSS and then household. So, I am just going to

compare how these are defined.
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So, look at just these four carefully. So, this HHID is actually taken together FSU segment
SSS and household if we combine all those things, then that is defining our HHID. How these

are actually added together these are added together because these are in string entries.

Since these valuable are in string those could be added, but not by numerical value, but these

are simply kept together. So, that is all about the id defined.
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So, for us id variable is well defined, but we need to know that whether that id is actually
uniquely identified or not. That is one of the important aspect we need to understand either
you check for id to be uniquely identified you have to set the command called isid. So, isid

then id variable first HHID will check first with HHID just HHID since we have defined and

then enter.
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.....

Now, if there is no error or red line displayed; that means, this variable is perfectly uniquely

identified in this particular data set for the observation. Otherwise, you can also check the



unique id by taking these three together isid, FSU, Segment, SSS and household these four

together FSU, segment, SSS and household.
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So, enter this is also not showing any error. So, that means, this is perfectly identify and what

is our first step then we need to sort this id variable that is HHID. Let us sort this HHID

which you have already defined.

(Refer Slide Time: 37:38)

Then we need to save it we have to also check our other using file.
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This may be our master file, we need to check we have saved and replaced it. Now we are

going to open the using file and we need to check their unique idea as well.
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So, let us open another file we have now cleared the data saved in Stata.
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Now, we are going to open, let it be level number 3.
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So, now we have opened similarly for the level number 3, that was extracted on the previous
day, regarding that we have guided. Similarly, we have defined the HHID, but HHID is now
little different. Because what is these 3 these 3 is in fact our individual id just look at age of

the person, age of the household cannot be asked. There is no age for the household, it should

be age of the person.



Similarly, gender, what is the gender of a person. So, this is an individual file. So, what do
you mean by individual file. You just check how many observations are there, observations in
the level number 3 is 5,55,352. You need to just cross check once again with the observations

given displayed on the Stata that is 5,55,352 that is then perfectly fine.

And next one is when we say that this is an individual file what is it is unique id variable is, if
it is in individual file then person serial number has to be included as well along with the

household number. So, how you have defined we have also guided in this particular PPT

page.

And on this particular page PID that is personal individual Id variable. Personal Id variables
is FSU, then SSS then person serial number. So, all other information along with the person
serial number is also important. So, that is PID, FSU, then segment, then likewise the
previous all four are carrying. So, this is what we have done it and I am going to show it

again.

So, now we need to check that we have made this PID here, not HHID. HHID was already
there in the previous one. So, for us it is PID, PID we can just check whether it is uniquely

identified or not: isid PID.
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So, PID is now not throwing any error, it is uniquely identified. Two aspects to be

remembered at this point, if you are keeping this as our master file, if you wanted to add



another file to this particular file like if the individual file is added with the household file, in
that case this PID has to be uniquely identified and in another case PID may not be uniquely
identified, because which is a different file. But if you are merging from household to
individual then what happens, where the cases are many or ids are many and the individual

file it is many.

So, the command is going to be different now, if this is your master file then your command
is what? Your command is master to household if you are doing it household is having less
number of cases. So, it is going to be m is to 1. So, m is your individual file having more

observation and it going to be merge with the 1 that is your household.

So, your household file has to be uniquely identified. Now for your simplicity the same
HHID that was carried, this is not important much, but we will clear this file and go to the

master file once again.
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So, master file that is the household file we will go once again. So, let us open the household

file again on the screen.
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So, now we have opened that block number level number 2.
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It is on your screen. Now this is open and we know that our unique Id file is uniquely
identified that is HHID is uniquely identified and that was also sorted. So, now, we are going
to merge these two files. So, what command we are supposed to give it has to be since our
master file is 1 and our that is household and your merging using file is many that is

individual.



So, it has to be 1 is to many and which one should be uniquely identified that is your master
file since it is 1. So, it is merge, merge 1 is to many, 1 is to m, then it is using file using a path
name. Then, 1 is to m then we have to give our the specific unique id that is HHID we have

already find, so then using file.

So, using file is your individual file and it has to be mentioned with the path name with the
extension file as well. So, here it is with its path name it is in inverted comma. Now you can
just check number of observations are initially 1,13,823, after merging it will be increased as
with the individual file that was something around 5,55,000 just enter you will get the

merging file.
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Now, at this moment we have got how many matched exactly, but the number of observations

that are merged with what exactly merged. We need to clear once again and operate it.
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We are not going to save it, we will clear it and merge it once again. So, this is 2 open on
your screen. So, 2 is perfectly fine, then you need to check that merge file is repeated or not,
dot underscore merge whether it is available on the variable list or not. So, HHID it has to be
correctly spelled with its capital letter, then using it has to be which one you ask we wanted to

use the third one not the second one. So, now inverted and within inverted comma then enter.
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Now you can see that initially we did one small mistake that with we added the same file. We
merge the same household file that’s why the number of cases were not increased, but now

you can see the number of cases increase to 5,55,352.

Now another interesting aspect is that initially we carry the file with household
characteristics, but now you have got characteristics about the individual information, gender,
age, marital status etc. on the same file. So, now, the number of matched cases are 5,55,352.
So, the previous one since it was an error, so you need to avoid the last one. That we have

already guided to you.

Similarly, we have all other records we have specified in our PPT that will be quite useful for
you to go through this is the one you can do. There are other files also other extracted file
like, one now after extract after merging of these two files the new file is coming up with one
important variable that is automatically added called merge, that merge is created underscore

merge.

You can also check the merged information with its frequencies like ta you can type on the

screen and just click on this merge file.
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You will get the information like how many observations are there, how many are matched.

So now, one important suggestion to you is that if again you want to merge another file



maybe block number 5, maybe block number 6 you need to delete or rename this particular

underscore merge file.

Otherwise, Stata is not going to read your command. That is one suggestion must be noted
down very carefully. I think these are important guide directions we have already given and

all other suggestions that are important, I have already given in between.

But still if anything is missing, I can guide you very quickly, I am just going to check the
previous one that whether I have guided or not. Like what is important again once you have
merged a file, your new file is no longer a household file it is an individual file now because

individual information have been already added.

Now further if you wanted to merge another file, your first file if you are open this merged
file this is going to carry as your individual file not your household file. So, I am just
checking whether I missed anything that was discussed in between I think I would almost all
information I have emphasized through the practical session. And the last slide we have kept

for your guidance is to create some unique id.

Like there are for ailment persons file you need to add the serial number of the member; who
has reported as ailment, rest are same. So, these are all guidance for your merging I hope you
can be able to get your fine-tuned data, but even if you have done your merging still it
requires fine tuning data recoding, some developing composite variable before you going to

have your analysis.

These are all details we are going to guide you in the next week, but this week is meant for

clarifying about the data set for merging and appending.

I hope you have enjoyed this lecture and the similar kind of guidance we will give it on the

next lecture for sure. With this I am going to stop here we will continue on the next class.

Thank you.



